TemBreak TemBreak [FR6} @ mmwg,
EmEEGRN\—HTEEE

Rear connection Flat bar
Instruction Manual

K (Types): T2RP40S
T2RP40L
T2RP46S

XZI(L, TemBreak2, TemBreak PRO 1) —
RICEEEGRAN—Z T TS EBEEEHL
TWET,

This document has described the procedure which
attaches stud unit in TemBreak2, TemBreak PRO
series.

AEIX, CHAICHELIFOBFRETAUICRET SV, REICEEHDOEVEIEK
LV, RUBESFBRBVICEKYVECIBEICELT, BHEEREZAVERA,
Please retain this manual for future reference. The Manufacturer assumes no responsibility for
damages resulting from non-application or incorrect application of the instructions provided herein.

FIFSEEF R\ TSR
T 547-0002

KR FERINER 6-13-47

TEL 06-6791-2756

FAX 06-6791-2732
https://www.terasaki.cojp

TERASAKI ELECTRIC CO., LTD.

6-13-47 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL +81-6-6791-2763

FAX +81-6-6791-2732
https://www.terasaki.co.jp

kiki—info@terasaki.co.jp int-sales@terasaki.co.jp

2G0468SAE (KRB-0445¢)

M E A& aT =X & 45 Applicable Breaker Types/ Packaged Items

EmEEGAN—
AR as s =X g Rear connecction Flat bar
Applicable Breaker Types Poles | ot EHE &
T /Ies Items

MCCB ELCB P A[B[C|DJE [F
E400-000, S400-0011, 3 |ToRP403S| 4 | 2 |6 | — |6 | —
zAE400-00, 2as00-0100, 2540000
g%g%ﬂ 00, PHA00-00,  \7540007 4 |TRPAO4S | 4 | 4| 8| —|8|—
H400-00J, L400-01 1, _ 3 |T2RPA03L | 4 [ 2 |6 |— |6 | —
B40000 4 |TORP40AL | 4 | 4 |8 | — |8 | —
E630-NE, $630-0000, 3 | T2RP463S | 4 | 2 | — | 6| - | 6
PS630-C101, PHB30-C100, - _
PE30L] 4 | T2RP464S | 4 | 4 8| -8

*1:00=80I%pr < DOO=Exceptfor‘SO”

gW e G
C:M10x 20 D: M8 x 25 E: M12 % 35
F:M12x 30

RIE L7 BT E Assembly tools

RN N

©® OO

BlRELOD IEFE Safety Notice

WL, A KT - [AEOHIC, BTAELZOMOFEEEESHRAHESE
BWBEOME T20FEHR, RWEIERHEOLTICERLTHMSSIIRLT S,
AETE, REIBFENI V% ALK, TAZE] TEFLTVEY,
CERVEBS BRI, BRAKRARIYAT, REEEEHER

1T 2AEEMNBESNSEE,
CERVEBESBAIC, BRARRAEIYAT, PEEQEELEE
R HAREMAEE SN I BERUVYHEZTOANEE SN DIHE

Ak, IANEFE] ICRELLFETE, KRITE t(iik&ﬁ%%lh.-’u‘u*) <
AREMEABHYET, WTHhEEZLRABTIDT, BFFo2TFEL,

Be sure to read these Instructions and other associated documents accompanying the product
thoroughly to be familiarize yourself with the product handling, safety information, and all other
precautions before mounting, using, servicing, or inspecting the product. In these Instructions,
safety notices are divided into \&Warnlng\and\ &Cautlon\accordlng to the hazard level:
M Awarning notice with this symbol indicates that neglecting the suggested procedure

or practice could result in lethal or serious personal injury.
: A caution notice with this symbol indicates that neglecting the suggested procedure or
practice could result in moderate or slight personal injury and/or property damage.

Note that failing to observe notices could result in serious injury/damage in some situations.
Because safety notices contain important information, be sure to read and observe them.

ANFERE Warning
WMEALE®D ZEE Operation Precautions )
OXEBIHFHIZMALNTTEN, REOSENANHYET.
Never touch live terminals. Doing so may result in electric shock.

ANEE Caution
WET ED TEE  Installation Precautions

OERIHIT AERE (BRIFL) AToTFELY,
Installation work must be performed by competent persons.

OEX(E, EALEMBRZFZEY (OFF) 2L, XEBERUHIEERATE
TWEWIEERRBELTIT>TTEL, REDOSTANHYET.
Prior to commencing any work on the product, open an upstream circuit breaker or the
like to isolate all sources of power/voltage. Doing so may result in electric shock.

OEMIERAN— L EMBOMMEZENVDICLTTIL, FhfKET
DOEFIFIE, KKOFEREGZYET,

Clean the rear conection stud bar mounting surface (contact surface with the breaker
terminals). Otherwise, a fire may result.

MAN\;EE. Caution

WET LD TEE  Installation Precautions

OEMIEHRA/ N —IF, TORMEIEHRFORGEICL oMY LiEMT D
;’;5&(:%5&/\;‘673\ ST TTEL, ERMFRIE, KKOREEAY
Insert the Rear connection Flat bar to the full depth until the mounting surface comes into
contact with the breaker terminals, and tighten it with the stud fixing screws. Otherwise, a
fire may result.

OEEEHRE/N—FER L, RUmF4 LK BERHT ML THREICER
FEFFTTEL, WBAFFHEINKDEENALHY TS,

Tighten the Rear connection Flat bar fixing screws and the terminal screws to the torque

specified in this manual. Otherwise, a fire may result.

O 1 L 0T TR Uik, ZEEGAN\—(CREL O MO 54
WESIZLTTEL, EEEGAN—~DBREIEANE KKDEEH
NHYET,

Even when tightening the terminal screws and after conductor connection, do not apply

excessive force to the Rear connection Flat bar. Otherwise, a fire may result.

OEHERE, BEERICIE L TRELGEHANSRET 570, TROH
ETEE (HER) LTTFEL,

Each connected conductor must be supported at a distance M. See following table.
REZHRA \—EE 0 15 90°
Rear connrcted Flat bar arrengement ’
EIXEfIE& K Distance K K=350mm K=200mm

ONTIToNERBEINT L (X, EEEGAN—RBETRLQLEED:
Y ,éﬂ LY LBEWTTEL, BRZESLTH S, EMFEIMINLT
TS,

When removing the installed breaker, loosen the terminal screws without loosing the Rear

connection Flat bar fixing screws.

BERALDOTEE Operation Precautions
([ EEJJEI’J( EESEA N v T GEED LEBEE RRERYBRLTHD
A (ON) #BELTTFEL, KKDBEZIhLHYFET,
When the breaker trips open automatically, remove the cause; then close the breaker.
Otherwise, a fire may result.
WMRSF - MRLED TFE Maintenance Precautions

ORT - RiElE, BMMBEZERTHANTOTTEL,

Service and/or inspection of the product must be done by persons having expert

knowledge.

ORSF - MiElE, LALERERZEY) (OFF) ICL, RELTWWEWNI L%
BLTA>TTEL, BEOBTNLBYET,

Before service or inspection of this product, please ensure that no voltage is present on

the breaker supply side. Any device upstream of this breaker should be suitably isolated

otherwise electric shock may result.

OEmEHAN—EERQL, R¥inFs Lld, THMIZERHST LY T
BLAEDLTTEL, BHE, KKORREGY FT
Regularly check that the Rear connection Flat bar fixing screws and the terminal screws
are tightened to torque values shown within this manual, failure to do so may result in
fire.




A EmEESA/\—HZESE Rear connection Flat bar Mounting Procedure
EEERANA—X, KEREMFICIRMATTTFEL,

Attach Rear connection Flat bar in front connected breaker.

O#B& G DELS L Removal of G

3P: 6pcs

4P: 8pcs

(PS400-01 0, PH400-103, P40001, PS630-1 1, PH630-C1 0, PE301 DIH &)

(For PS400-01, PH400-01 3, P400, PS630-C1 0, PHE30-C1 0, P630)
] e}

-

3]

3P: 6pcs
4P: 8pcs

L

@+® & H OHSE L Removal of H
3PS400-000, PH400-101, P40000, PS630-10, PH630-000, P60 DIHFEFE
Unnecessary for PS400-01 0, PH400-C1 01, P40001, PS630-01 01, PH630-00 0, P63001

@~® &R | DS L Removal of |

A W— ——— -

@®~@© BEEERXE Arangement set

& Cleaning
@ A Insert

@ $EfhAEER Check contact state
@ #E4F(F Tightening

CorD

A L
s
B
0] 45°
@ A'R, TH#HA forRand T phases
9)j 4 B:S, N#FA for Sand N phases
C a
T
M10 X 20
\ %
B RHFEGEE EER

Conductor Connection Procedure for Rear Connected Type

EorF

M12
EorF —02~65.7Nm
9T CBHECRET AL, ! f5mm
2G0468SAE (KRB-0445¢) | » The conductors are not supplied.
BIAARFTEE ZEER [HR— FRGESRE ZEk
Breaker Mounting Procedure for Rear Connected Type Support Mounting Procedure for Rear Connected Type
 wwan [
v S ]
b HR—k
-» o Support
- K »
ERRFIT TR~
Cable or Bus bar
o
a4 T A\ [
EICBERESTRENEOTESETE0, = NN
For mounting dimensions, refer to catalogue. _ .
g =4m O EEERAN—EE o 5 ane
‘R LREMEORBEREEALTT S, Rear connectionJ Flat bar arrengement 0 45%,90
Use packaged screws of breaker. ElIERIE K Distance K J=350mm K=200mm

- YR—MITHETEL,

The supports are not supplied.




